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QUESTION 1

A server technician is performing a server installation. This server must be able to resolve host names for users running
a variety of client operating systems. At a minimum, which of the following services should be enabled on the new
server? (Select TWO). 

A. NAT 

B. DNS 

C. LDAP 

D. WINS 

E. SNMP 

F. DHCP 

Correct Answer: BD 

 

QUESTION 2

An administrator is setting up a new mail server on the network and wants to open necessary ports to allow POP3
protocol for mail delivery. Which of the following ports should be opened in the internal and external firewalls? 

A. 101 

B. 110 

C. 123 

D. 161 

Correct Answer: B 

 

QUESTION 3

A server technician has installed a full rack in a server room and must place the following items in the rack: One 2U
server One 2U firewall One 1U server Two 3U UPS devices 

Which of the following describes how the technician should arrange the rack? 

A. Place one 3U UPS device on the top of the rack and one on the bottom 

B. Place both 3U UPS devices on the top of the rack 

C. Place both 3U UPS devices in the center of the rack 

D. Place both 3U UPS devices on the bottom of the rack 

Correct Answer: D 
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QUESTION 4

A server administrator is installing a new OS on a server using an image from the network. The server administrator
successfully connects to the network and applies the image. Upon reboot, the system displays the following message:
Operating system not found. Which of the following is the MOST likely issue? 

A. An incompatible hard drive was installed. 

B. An incorrect boot sequence was set in the BIOS. 

C. Incorrect patches were applied to the system. 

D. An incompatible OS was used. 

Correct Answer: B 

 

QUESTION 5

An administrator is sizing a new server for a 500GB database application. Which of the following components on the
server will provide the BEST performance? 

A. Disk 

B. Processor 

C. RAM 

D. Network card 

Correct Answer: C 

 

QUESTION 6

Which of the following server types can be configured and joined to the existing network as a read-only server for user
account verification to external websites? 

A. Syslog server 

B. Web server 

C. Directory server 

D. Messaging server 

Correct Answer: C 

 

QUESTION 7
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An administrator has been given an OS DVD to install on a server. During setup, however, the DVD gives an
architecture mismatch warning. Which of the following is the MOST likely cause of the issue? 

A. The administrator is trying to install the OS on a system equipped with ECC memory 

B. The administrator is trying to install a 64-bit OS on a system with 32-bit CPUs 

C. The administrator is trying to install on a system with multicore CPUs 

D. The administrator is trying to install on an outdated BIOS 

Correct Answer: B 

 

QUESTION 8

A system administrator notices that there is a low level of available storage space on a file server. Which of the following
should be implemented to limit the amount of storage space users can utilize on the file server? 

A. Disk shadowing 

B. Disk compression 

C. Disk quota 

D. Disk indexing 

Correct Answer: C 

 

QUESTION 9

An administrator is configuring external storage that will be accessed by multiple servers via the existing Ethernet at a
minimum cost. Which of the following technologies BEST meets these objectives? 

A. NFS 

B. Fibre Channel 

C. HBA fabric 

D. DAS 

Correct Answer: A 

 

QUESTION 10

A systems administrator is informed that users are unable to connect to the database. After investigating, the
administrator determines the source of the problem and corrects the issue. Following up, the systems administrator
informs the Chief Technology Officer (CTO) of the findings. Which of the following documents did the systems
administrator provide to the CTO? 

A. Service level agreement 
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B. Root cause analysis 

C. Request for change 

D. Acceptable use policy 

Correct Answer: B 

 

QUESTION 11

Which of the following is a basic difference between DAS and NAS? 

A. NAS requires fibre channel; DAS does not. 

B. NAS is faster than DAS when using NFS. 

C. DAS operates its own OS; NAS does not. 

D. DAS is directly connected to a server; NAS is connected via IP networking. 

Correct Answer: D 

 

QUESTION 12

Which of the following is the MOST important consideration before making a change to a server? 

A. Explore the ramification of the change before implementation. 

B. Determine the service level agreement in place before implementation. 

C. Review the equipment disposal procedures and policies before implementation. 

D. Notify all staff members of the planned system outage before implementation. 

Correct Answer: A 

 

QUESTION 13

Clients cannot connect to the network. A technician determines that port 68 is not open. Which of the following protocols
is being blocked? 

A. POP3 

B. DNS 

C. LDAP 

D. DHCP 

Correct Answer: D 
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QUESTION 14

A network administrator finds there are several users who cannot access a particular application. The application does
not launch for the users. The network administrator finds the server has not been rebooted in 192 days. Which of the
following is the MOST likely cause of these issues? 

A. Memory leak 

B. Low resources 

C. Slow OS performance 

D. Service failure 

Correct Answer: A 

 

QUESTION 15

An administrator is sizing the CPU requirements of a new application. The application requires 12 guest VMs to run
concurrently on the host. If each guest requires 500MHz of CPU and the server has two sockets, which of the following
CPUs will ensure there are sufficient host CPU resources for this application? 

A. 1.6GHz CPU 

B. 2.0GHz CPU 

C. 2.5GHz CPU 

D. 3.2GHz CPU 

Correct Answer: D 
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